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Using the following statistics, answer problems (1) to ).
> X =137 > >Y=253 > n=25 > > XY =1609 -
> X? =895+ > Y?=2943

(DA least squares line was derived, what is the slope of this line?
M2.11 B1.54 (©3.01 (D1.66 (E)2.83.

(2)A least squares line was derived, what is the intercept of this line?
M2.11 B1.54 (©3.01 (D1.66 (£)2.83.

(3A 95% confidence interval for the mean value of Y at X=6.0 was

derived (say, from A to B). What is the value of B?
(M)13.57 (B10.16 (©12.05 D11.48 (E)14.14. (RKBE)
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In a study to determine how the skill in doing a complex assembly job
is influenced by the amount of training, 15 new recruits were given
varying amounts of training ranging between 3 and 12 hours. After
the training, their times to perform the job were recorded. After
denoting x = duration of training (in hours) and y = time to do the job

(in minutes), the following summary statistics were calculated
n

X=72>y=456 » > (x,—X ) =336 -
i=1

i(x,-—)_()(y,-— =-57.2 > Z 2 =160.2
i=1
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(1)Determine the equation of the best fitting straight line.

(2)Do the data substantiate the claim that the job time decreases with

more hours of training? Use « =0.05.

(3)Estimate the mean job time for 9 hours of training and construct a

95% confidence interval.

(4)Find the predicted y for x =35 hours and comment on the result.
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Based on the following 10 pairs of data,
X \ 6 3 4 3 2 4 0 -1 -5 -2
Y \ 07 7 8 1 6 2 5 3 2 1

and assuming the following linear regression model,
Y=a+pX+U,

where U has zero mean and variance equal to o2.

answer the following questions.

(DCompute the least-squares point estimates of « and g, and the

coefficient of determination.
(2)Calculate variance estimates for ¢ and f, and the covariance
estimate between & and J.

(3)With 10% significance level, test the hypothesis: H, 0% =1 using

the following critical values:
Zygo =1.28, Zygs =1.65; thgg =140, tyg55=1.86;

t0.90,9 =1.38, t0.95,9 =1.83; to.90,10 =1.37, to.95,10 =1.81;
Hoos=1336, 45958 =1551; 150e=14.68, z5950=16.92;
13.9,10 =15.99, Z§.95,10 =18.31. (BKRBEE)
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